DAV PUBLIC SCHOOL CHANDRASEKHARPUR, BHUBANESWAR BOOKS & NOTEBOOKS LIST FOR STD. XI-COMMERCE (2023-24)

NAI	NAME OF STUDENT:			SCHOOL No.		
SL	NOTE BOOKS	Qty	PRICE	AMOUNT		
1	Long Ruled Copy [100p]	25	30.00	750.00		
2	Long Plain Copy [100p]	5	30.00	150.00		
3	Assignment Copy	4	30.00	120.00		
4	Graph Copy	2	20.00	40.00		
5	SUPW Copy	3	16.00	48.00		
6	D.A.V. United Magazine	1	375.00	375.00		
7	School Diary	1	60.00	60.00		
	1543.00					
1	Hornbil [English]	NCER	Т			
2	Snap Shot [English]	NCER	Т			
3	Indian Economic Development	NCER	T	85.00		
4	Statistics for Economics	NCER	Т	55.00		
5	Accountancy -I	NCER	T	125.00		
6	Accountancy -II	NCER	T	110.00		
7	Business Studies	NCER	T	115.00		
8	Mathematics	NCER	T			
10	Physical Education and Health-XI	ROHA	.N			
11	Record Physical Education-XI	EVER	GREEN			
12	Exemplar Mathematics-XI	NCER	Т			

N.B:

DAV PUBLIC SCHOOL CHANDRASEKHARPUR, BHUBANESWAR BOOKS & NOTEBOOKS LIST FOR STD. XI-HUMANITIES (2023-24)

NA	ME OF STUDENT:	SCHOOL N	O.	
SL	NOTE BOOKS	Qty	PRICE	AMOUNT
1	Long Ruled Copy [100p]	15	30.00	450.00
2	Assignment Copy	6	30.00	180.00
3	SUPW Copy	3	16.00	48.00
4	D.A.V. United Magazine	1	375.00	375.00
5	School Diary	1	60.00	60.00
Sl	OTHER BOOKS	PUBI	ICATION	1113.00
1	Hornbil [English]	NCER	RT .	
2	Snap Shot [English]	NCER	T	
3	Indian Pshycology	NCER	T	
4	Fundamentals of Physical Geography	NCER	T	
5	Practical Work in Geography	NCER	RT .	
6	Indian Physical Environment	NCER	RT .	
7	Introducing Sociology	NCER	T	
8	Understanding Sociology	NCER	T	
9	Indian Costitution Work	NCER	RT .	
10	Political Theory	NCER	T	
11	Mathematics	NCER	T	
12	Physical Education and Health	SARA	SWATI	
13	Record Physical Education	EVER	GREEN	
14	Exemplar Mathematics-XI	NCER	Т	

N.B:

	D.A.V. PUBLIC SCHOOL, CHANDRASEKHARPUR, BHUBANESWAR					
	XI PRIME 40 2023-24					
SL	NAME OF THE BOOKS	PUBLICATION	QTY	PRICE	AMOUNT	
1	HORNBILL	NCERT	1	60.00	60.00	
2	SNAP SHOT	NCERT	1	40.00	40.00	
3	MATHEMATICS -XI	NCERT	1	210.00	210.00	
4	EXEMPLAR MATHEMATICS-XI	NCERT	1	160.00	160.00	
5	PHYSICS PART-1-XI	NCERT	1	150.00	150.00	
6	PHYSICS PART-2-XI	NCERT	1	120.00	120.00	
7	EXEMPLAR PHYSICS-XI	NCERT	1	145.00	145.00	
8	CHEMISTRY-1-XI	NCERT	1	180.00	180.00	
9	CHEMISTRY-2-XI	NCERT	1	120.00	120.00	
10	EXEMPLAR CHEMISTRY-XI	NCERT	1	160.00	160.00	
11	BIOLOGY-XI	NCERT	1	230.00	230.00	
12	EXEMPLAR BIOLOGY-XI	NCERT	1	145.00	145.00	
NO	TE BOOKS		T(TAL	1720.00	
1	Long Plain Copy [192p]	DAV	3	50.00	150.00	
2	Long Ruled Copy [192p]	DAV	3	50.00	150.00	
3	Long Plain Copy [100p]	DAV	10	30.00	300.00	
4	Long Ruled Copy [100p]	DAV	20	30.00	600.00	
5	CBSE Assignment Copy	DAV	4	30.00	120.00	
6	Diary	DAV	1	60.00	60.00	
7	SUPW Activity Copy	DAV	3	16.00	48.00	
8	Graph Copy	DAV	2	20.00	40.00	
9	Practial Record [Phy,Chem,Math, Biology]	DAV	4	50.00	200.00	
10	D.A.V. United Magazine	DAV	1	375.00	375.00	
					2043.00	
	TOTAL				3,763.00	

N.B:

	XI SUPER 40 [2023-24]						
SL	NAME OF THE BOOKS	PUBLICATION	QTY	PRICE	AMOUNT		
1	HORNBILL	NCERT	1	60.00	60.00		
2	SNAP SHOT	NCERT	1	40.00	40.00		
3	MATHEMATICS -XI	NCERT	1	210.00	210.00		
4	EXEMPLAR MATHEMATICS	NCERT	1	160.00	160.00		
5	CHEMISTRY-1-XI	NCERT	1	180.00	180.00		
6	CHEMISTRY-2-XI	NCERT	1	120.00	120.00		
7	EXEMPLAR CHEMISTRY	NCERT	1	160.00	160.00		
8	PHYSICS-1-XI	NCERT	1	150.00	150.00		
9	PHYSICS-2-XI	NCERT	1	120.00	120.00		
10	EXEMPLAR PHYSICS	NCERT	1	145.00	145.00		
11	GET ACTIVE	ROHAN	1	385.00	385.00		
12	PHYSICAL EDUCATION MANNUAL-XI	EVERGREEN	1	450.00	450.00		
NO	TE BOOKS				2180.00		
1	Long Plain Copy [192p]	DAV	3	50.00	150.00		
2	Long Ruled Copy [192p]	DAV	3	50.00	150.00		
3	Long Plain Copy [100p]	DAV	10	30.00	300.00		
4	Long Ruled Copy [100p]	DAV	20	30.00	600.00		
5	CBSE Assignment Copy	DAV	4	30.00	120.00		
6	Diary	DAV	1	60.00	60.00		
7	SUPW Activity Copy	DAV	3	16.00	48.00		
8	Graph Copy	DAV	2	20.00	40.00		
9	Practial Record[Phy,Chem,Math]	DAV	3	50.00	150.00		
10	D.A.V. United Magazine	DAV	1	375.00	375.00		
					1993.00		
				ſ			

N.B:

Parents are requested to deposit the requisite amount through online payment system and bring a carry bag to collect the books and notebooks from the respective book counter of the school by producing the receipt of the payment and book list.

4,173.00

TOTAL

DAV PUBLIC SCHOOL CHANDRASEKHARPUR, BHUBANESWAR BOOKS & NOTEBOOKS LIST FOR STD. XI-SCIENCE,F1,F2(2023-24)

NAM	NAME OF STUDENT:			SCHOOL No.		
SL	NOTE BOOKS	Qty	PRICE	AMOUNT		
1	Long Plain Copy [100p]	10	30.00	300.00		
2	Long Ruled Copy [100p]	20	30.00	600.00		
3	Diary	1	60.00	60.00		
4	SUPW Activity Copy	3	16.00	48.00		
5	Graph Copy	2	20.00	40.00		
6	CBSE Assignment copy	4	30.00	120.00		
7	Practial Record[Phy,Chem,Math]	3	50.00	150.00		
8	D.A.V. United Magazine	1	375.00	375.00		
	TOTAL-	1693.00				
Sl	OTHER BOOKS	PUI	BLICATION	AMOUNT		
1	Hornbil [English]	NCER	Т			
2	Snap Shot [English]	NCER	Т			
3	Physics Part -I	NCER	Т			
4	Physics Part -II	NCER	T			
5	Chemistry Part-I	NCER	Т			
6	Chemistry Part-II	NCER	T			
7	Mathematics	NCER	T			
8	Biology	NCER	Т			
9	Record [Biology]	DAV				
10	Record [Computer Science]	DAV				
11	Computer Science [Python]	CBSE				
12	Physical Education and Health-XI	ROHA	١N			
13	Record Physical Education-XI	EVER	GREEN			
14	Exemplar Mathematics-XI	NCER	Т			
15	Exemplar Physics-XI	NCER	Т			
16	Exemplar Chemistry-XI	NCER	Т			
17	Exemplar Biology-XI	NCER	Т			

N.B: